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Language — Part I — HINDI — PaperI

Allowed : 3 Hours | [ Maximum Marks : 100
C(l)  BURE F sl & oIt WeE-uH S HY ) Al v § % w9 A, @ qia wan
Y4 e i giaa &1 |
(2) W W IW S F T AT 91 HIeT SE F 39 H 3R w@tEn 7 F fow e
ITEATT F|
frefafaa 4 @ et ua #1 dey afea = wifsu 1x5=5

With reference to the context explain any one of the following :
1. UH 9 |ifery, 39 1 1191 @ |
YA T Hiaedl B, AR F GE 2 |

2. S I R A R ag
< Framor st 11

fr=fafea & @ frdl < =1 a9 wfea saren #ifsa . 2x5=10
With reference to the context explain any two of the following :
3. Holdsm-Hfes Hed '

HI-E 5 e g

W wirw #1 @ 3 T

T 3 T ¥

4. oo foge @ et ueed & ot 7% o |
HEH A ITH! T A |
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Tt &1 FoemE wv
33t gt g
& wew g Y
Te fait e

IIL. mﬁﬁﬁﬁmwmmm:

Write the summary of any one of the following poem :

Iv.

6.  Trsdl geeR
7.  9RA Tia
8. & &gy
U & :
Poem Writing :
9. W% $r o IR fafan
Heqarn
10. =G 39 (o S iRt A
11. ﬁmﬁfﬁaaﬁﬂﬁaﬁqmmmmwﬁaﬁm
With example give the characteristic of any one of the following
(31) (&) Jem (3) W
13, ﬁwﬁftaﬁ@f&m&mm@:mmwﬁﬁm

1x15=15

1x10=10

1x5=5

Ix5=5



VI e # & Rl & =) wed wfim saren wif

VIIL.

VIIL.
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2x5=10
With reference to the context explain any two of the following :

13. 7 ®E i € wuw: ok vy o, ST ool @ faaet 5

14, wifew § 7w o Sve & T & o o siaRe § v T A= T LERCE I ke
SR et gesft

15. ¥R« ¥ sifyemet 98 &M ome & 1 Yee e 9, S TeTer a% o1 T gH |

16. femmy=§? TG Tt W el %, e e € et &, e T A e Sa
7
ﬁ%@aﬁé%mqﬁ%ﬁwmﬁﬁq:

Answer briefly any four of the following questions :

17. @S 3 N F FH-FR W 3w & 2

4x3=12

18. 3% ¥ Tg T =1 war 59 =rerm &7

19. @S Fi e § 3w T8 g2

20. @A F faRrvand Far-qr § 2

21. FH IR # w0 UG §?

22. TG WMl SR ¥ - HROT FAREY |

23.  Ffa =1 ygum & FRor =1 § 2
ﬁmﬁﬁaﬂﬁﬁ?ﬁ@wwm?ﬁ?ﬁmﬁﬁm:

From the following lessons write Summary of any one in 300 words :

24, SECH TERHI

1x15=15

25. s 1R

26. Hfm IwE
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IX. 27. fr=fafes & @ we fem

5x1=5
Match the correct pairs :
‘' -
(31) drerRIoEeH - (i) U9 WHYR
(31m) we fhg =1 A - (i) AR TR
(3) TR = T - (i) dred TR
(3) Wt == - (iv) THd S|
(3) gowia Bt fen -~ (v)  Sfwefew
X. 28. Trafefaa 4 @ fed e =1 a1 forae ol & wam =it 4x2=8

From the following write the meaning of any four and use them in sentences :

(31) it &
(3m) ST ST
(3) T U B
(%) wir

(3) e d9R B
(3) e

(7)) ST &
(v) =i9e &

~-000-



